
Bird Table Assembly Instructions (BIR01) 

The bird table is received part assembled and requires to be assembled using the kit 
provided.  
Screws – 2 x 100mm screws, 18 x 35mm screws, 6 x 70mm screws, 8 x 50mm screws, 2 x 
60mm screws. 
 
Part 1- Base assembly 
Parts: 
1 x bird house and post. 
1 x base piece with foot blocks. 
1 x base piece without foot blocks. 
4 x angled supports. 
 
1. Position the base pieces, forming a 

cross at the centre as shown, ensuring 
the piece with the foot blocks is 
positioned above. Screw together 
through the underside using 4 x 35mm 
screws. 

 
 
 
 
2. Position the bird table post onto the 

centre of the base and screw together 
through the underside of the base using 
2 x 100mm screws 

 
 

 

 

3. Position the 4 x angled supports onto 
the base, ensuing that they are flush to 
both the base and the post. Fix each 
each support using 2 x 50mm screws, 
one through the base and one through 
the post in each support. 

 

 
 
 



Part 2- House assembly 
Parts: 
1 x bird feeder tray. 
2 x roof supports. 
2 x roof panels. 
1 x roof cap. 
 

1. Position the roof supports onto the  
feeder tray (use a tape measure to 
check that they are evenly 
distributed if necessary) and screw 
from underneath the tray with 1 x 
70 mm screw up into each of the 
legs of the roof supports. 

 
 
 
 

2. Put the roof panels in place so the top 
points of the detailed fascia line up and 
screw the fascia together using  
1 x 60 mm screw in each. 
Then screw the roof panels in place (use 
(use a tape measure to check that 
they are evenly distributed if 
necessary).  
 
 
 
 

3. Finally position the house on top  
of the stand post centrally and screw in 
place using 2 x 70mm screws as shown 
And screw the cap strip on to the top 
of the roof join using 2 x 35mm screws. 

 

 

 

 

 

 

 

 

 


